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Bell Ringer
How would you use the substitution method to solve the system of linear equations? Try it out
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How would you use the substitution method to solve the system of linear equations? Try it out
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Algebra Extension

Bell Ringer
Find the slope and y intercept of the line with the equation 9x + 3y = 2
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Find the slope and y intercept of the line with the equation 9x + 3y = 2
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Bell Ringer
Solve the system of linear equations

Y = 3x+2

Y = -x-6
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Solve the system of linear equations

Y = 3x+2

Y = -x-6
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Bell Ringer
A line passes through the points (-2, 3) and (0, 7). 

a) Find the slope of the line 
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b) Find the equation of the line in point slope form 
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c) Find the equation in slope intercept form 
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d) Find the equation in standard form 
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A line passes through the points (-2, 3) and (0, 7). 

a) Find the slope of the line 
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Bell Ringer
Xavier has 12 more CDs on his iPod than Yasmin. Together, they have 58 CDs. How many CDs does each person have? Let x represent the number of CDs Xavier has and y represent the number of CDs Yasmin has. 
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Xavier has 12 more CDs on his iPod than Yasmin. Together, they have 58 CDs. How many CDs does each person have? Let x represent the number of CDs Xavier has and y represent the number of CDs Yasmin has. 
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Exit Ticket
Find the equation of the line passing through the points (-2, 3) and (4, 5) in Slope Intercept form and Standard Form.
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Find the equation of the line passing through the points (-2, 3) and (4, 5) in Slope Intercept form and Standard Form.
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8th Grade

Exit Ticket
1. Sketch [image: image11.png]+ 3 = —4



 on a number line

2. Solve the inequality |3x – 4| < 5
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2. Solve the inequality |3x – 4| < 5
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1. What is two-thirds of four?

     2. Solve 
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      3.    Solve 



4. What value of x makes this true? 
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4. What value of x makes this true? 
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